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1. (a) Draw the phasor diagram for Amplitude modulation?

(b) An amplitude modulated signal is given by
fam(t) = 10cos(2m.10%) + 5cos(2m.10%)cos(2m.10°t) + 2cos(2 tHcos(4m.10%).

Find the various frequency components present and thg c onding modu-

lation indices. [8+-8]

2. How is double sideband suppressed carrier demogulated? [16]
3. (a) How is AM transmitter different from trapsmitter w.r.to feedback.

(b) Explain about variable reacta e transmitter.. [8+8]

4. Show that the figure of meri or am AMPsystem using synchronous detection is

identical to the envelope cto [16]

5. Briefly describe t operation of different types of FM detectors ,clearly

bringing out mitations of each one of them? [16]

6. Explaingthe generagion and detection of VSB signal using filter method? [16]

7. (a) Thelocal oscillator frequency is chosen to be higher than the received carrier

frequéhcy by an amount equal to the IF so as to produce a difference frequency
equal to the IF. Why is it chosen to be higher and not lower than the received
carrier frequency.

(b) For a receiver with IF,RF, and local oscillator frequencies of 455kHz, 1100kHz,
and 1555kHz,respectively,determine:

i. Image frequency

ii. Image frequency rejection ratio for a Q=>50. [16]

8. Define pulse position modulation Draw the waveform, and explain the operation.
[16]
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. Define pulse position modulation Dra e , and explain the operation.
[16]

Answer any FIVE Questions
All Questions carry equal marks
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Show that the figure of merit v for an AM system using synchronous detection is
identical to the envelope detector? [16]

. Briefly describe the principle of operation of different types of detedgors ,etearly

bringing out advantages and limitations of each one of the [16]
(a) How is AM transmitter different from FM trans t® feedback.
(b) Explain about variable reactance type EM t [8+8]

How is double sideband suppfessed cagrier demodulated? [16]
(a) Draw the phasor forgAmplitude modulation?
(b) An amplitu lated¢Signal is given by
fam(t) 10°0) + Scos(2m.10°)cos (2. 10°) + 2cos(2m.10°t)cos(4m.10™).
Find th ious frequency components present and the corresponding modu-
latigufhdic 8+8]
Explain the generation and detection of VSB signal using filter method? [16]

(a) The local oscillator frequency is chosen to be higher than the received carrier
frequency by an amount equal to the IF so as to produce a difference frequency
equal to the IF. Why is it chosen to be higher and not lower than the received
carrier frequency.

(b) For a receiver with IF,RF, and local oscillator frequencies of 455kHz, 1100kHz,
and 1555kHz,respectively,determine:

i. Image frequency

ii. Image frequency rejection ratio for a Q=>50. [16]
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1. Briefly describe the principle of operation of different types of FM detectors ,clearly

bringing out advantages and limitations of each one of them? [16]

2. Show that the figure of merit v for an AM system using synchfonous n is

identical to the envelope detector? [16]

3. Explain the generation and detection of VSB signal u od? [16]

4. How is double sideband suppressed carrier degmodtila [16]
5. (a) How is AM transmitter differen mitter w.r.to feedback.

(b) Explain about variable reagtfin transmitter.. [8+8]

6. Define pulse position mo tion\Drawpthe waveform, and explain the operation.
[16]

freq y unt equal to the IF so as to produce a difference frequency

a
equal t Why is it chosen to be higher and not lower than the received

carrigr frequency.

7. (a) The localo ncy is chosen to be higher than the received carrier
Y
hel
(

)
b) For a Beceiver with IF RF, and local oscillator frequencies of 455kHz, 1100kHz,
and 1555kHz,respectively,determine:

i. Image frequency
ii. Image frequency rejection ratio for a Q=>50. [16]

8. (a) Draw the phasor diagram for Amplitude modulation?

(b) An amplitude modulated signal is given by
fam(t) = 10c0s(2m.10%) + Scos(2m.10°)cos(27.10°t) + 2cos(2m.10°t)cos(4m.10™t).
Find the various frequency components present and the corresponding modu-
lation indices. [8+8]
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. How is double sideband suppressed carrier demodulated? [16]
Show that the figure of merit v for an AM system using synchromgeu tion is
identical to the envelope detector? [16]

Briefly describe the principle of operation of different t FM\detgttors ,clearly

bringing out advantages and limitations of each one [16]
(a) How is AM transmitter different from t ePw.r.to feedback.
(b) Explain about variable reactance dmpe a (8+8]
(a) Draw the phasor diagram d€ modulation?
(b)

Find the varj T components present and the corresponding modu-

b) An amplitude modu signal iS\given by
fam(t) = 10cos(2m.10%) + 5cos@m.10%)cos(2m.10%t) + 2cos(2m.10%)cos(4m.10%).
eI
lation indic [8+-8]

ocal @scillator frequency is chosen to be higher than the received carrier
fre cy by an amount equal to the IF so as to produce a difference frequency
equaljto the IF. Why is it chosen to be higher and not lower than the received
carriet frequency.

(b) For a receiver with IF,RF, and local oscillator frequencies of 455kHz, 1100kHz,
and 1555kHz,respectively,determine:

i. Image frequency
ii. Image frequency rejection ratio for a Q=>50. [16]

Define pulse position modulation Draw the waveform, and explain the operation.
[16]
Explain the generation and detection of VSB signal using filter method? [16]
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